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» Write an appljcatiog of OR.

- What is a feasible solution to atransportation problem ?

' .Name
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| Part A | '
- Answer all questions.,

 Each-question cerries 1 mark. -

“What is operational research ?

. - Write the scope of OR.
. What is a good model ?

-What is a linear programming problem ?

7. “What are artificial variables? - = )
‘ 8 What is an unbalanced ass:gnment problem ?
‘9. "What isa fau- ga.me ? -
10.

- 11
12.
18.
14,

. What value of game ?
. ' (10x1=10) '

“Part B

Answer any eight questions.
Each question carries 2 marks.

What are the_featnfes of OR ? .

Write a note on deterministic model.

What are the iimitations of OR?

Differentiate feasible solution and optiinal sol'utionf

~ Turn over . .



. 15.
16,
‘.
- 19.
“20.

21.
22,

23.
24;

" Write a note on transportation problem.
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What is duality in linear i)rogrammjné '

: Wnte a notée t;_n simplex method.

~List tht_é assumptions of a game.

Wha£ is pure strategy ? ?
Clte any two areas wherea551gnment techmque is apphed '
What is saddle pomt s : ~ 4 _ ﬁ,..
What is a strategy in g;uhé ? . J | ;
) "' - (8 x2=16)
Part C s
Answer: dny sxx questiorzs 3
Each question carries 4 marks

Model building is the essence of the OR approach Expla.m o L

-What are the essential ingradients of hnear programmmg problems ?

A company produces two types of cow boy hats Each hat of the first type requlres twme as much

labour time-as the second type. If all hats are of the second type only, the company can produce a '

total of 500 hats a day. The market limits da11§' sales of the first and secoxid types to 150.and 250

e hats. Assuming-that the profit per hat are Rs. 8 for type I and Rs. 6 for type 1, formulate the

L problem as a lmear programming model in order to determme number of hats'to be produced of - - -
.- each type to maximise the profit. '

26.

:‘: I

Solve the _follow111g-problem graphz_chlly .: : . L

.. Maximize Z =bx; + 8xy
. subjectto  3x; +2x5 <36 -

27,

% +2x9 <20
3x; +4x, <42
2,220,

Explam the North West Chmer rule with an example.
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28. . Find the’ Q_ﬁtimilm SQIution to the following.assignment problem showing the cost (Rs.) for assigning
workers to jobs : : >

Job
A 18 17 16
Workers B 15 13 14
c 19 20 21

29, Show thatassignment problems are particular cases of transportation pro‘bléins.

: : . e, 1.0
.30. State whether the following game matrix has a saddle point [_ 4 3].-

31. Show how a game problem can be formulated as‘a linear programming. problem. .
(6 x 4.=24)

.'PartD

~Answer any -two.qyestions.
Each question carries 15 marks.

~82. Solve the following LPP-using simplex methiod :

Mazximize Z = 4x; + 10x; .
subject to ' 2% + x5 <50 - o ' LT
. 2% +5x, <100
2% +8x5.<90
%y, X2 0. 2

33. Solve using Big-M method :

Minimize Z = 5x; + 3x9
subjectto  2x; + x5 23
: x1+x222
"Xy Xg 20.

Turn over
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34. Solve the following transportation problem :

Plant -
X

Y
4

Required

35. Apply‘dominance rule and solve the following game problein :

o]
R Oy
b =1 Y
@ =

4

Market
A B C D
10 22 10 20
15 20° 12 8
20 12 10 15
5 11 '8 8 .

e
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Available
8

13
11

(2 x 15 = 30) -



